o it o
TRINITY \\W/ 4 COLLEGE

Year 11 Mathematics Specialist

Test4 2016
Calculator Free
Trigonometry
STUDENT’S NAME
DATE: TIME: 50 minutes MARKS: 50
INSTRUCTIONS:
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Special ltems: Notes on one side of a single A4 page (these notes to be handed in with this

assessment)

Questions or parts of questions worth more than 2 marks require working to be shown to receive full marks.

1. (16 marks)
Prove the following identities

1 —sinx 2
= (sec x —tanx) [4]

(@)

1+ sinx
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b sinZA+c052A+1_2 4
(b) sin4 + cos A - ce0s

© 2 4 cosec A
c sec =
cosec A —sin A

sin 84 cos4 — sin 64 cos 34
(d) ; - = tan 24
cos 24 cos A — sm34 sndA4

[4]

[4]

[4]
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2. (4 marks)

Using a suitable addition formula, calculate the exact value of cos 75°

3. (4 marks)

Show that 8cos 80°cos 40°cos 20° =1
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4.

(11 marks)
Solve the following equations for the given domains

(@) 2snB+cos20=1 , 0°< 6 < 180°

T
(b) sin28=sing , 0<0<2m

(c) tan0 + 3cotB0=5sec® , 0<60<2m

[4]

[3]

[4]
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(7 marks)

(@) Show that the equation cos 3x — sin 2x = () can be written as
cos x(4sin” x + 2sinx — 1)= 0 [4]

- bi\/bz —4ac

(c) Hence, by using the quadratic formula x = > , give the exact value for
a
g
Smﬁ i % is a solution of the given equation. [3]
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(8 marks)

T
If A+ B= Z and tanA4 = , determine, in terms of n

n+1

(a) tan B . (Hint: use the identity for tan (4 + B)) [4]

(b) tan(4 — B) [4]
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